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Section A : [8 x 2 marks = 16 marks] 
For each question from 1 to 8, four options are given. One of them is the correct 
answer. Make your choice (1, 2, 3 or 4}. Write your answer in the bracket. 

1. James observed a plant six months apart as shown below.

six months later 
,-

Based on the pictures above, what characteristic of livin.9 things did he 
observe? 

(1) - Living things grow.

(2) Living things reproduce.

(3) Living things respond to changes.

(4) Living things need air, food and waterto survive. ( } 
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(a) (i) He will observe that the amount of water and food will decrease

(ii) The hamsters showed that living things need food and water to

survive. 

(b) (i) The number of hamsters increased

(ii) Living things can reproduce.

(a) Both make its own food.

(b) M cannot make its own food but L can make its own food.

(a) (i) It belongs to the insects group.

(ii) I do not agree because it has eight legs but insects have six legs

(b) (i) Animal U does not have scales but lays eggs and has two legs

(ii) T because it does not have scales and does not have two legs

but lays eggs like a frog. 

(a) They are mould

(b) fungi

(c) It has to be wet

( d) Keep the bread in a cold place
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Q9) 

Q10) 

Q11) 

Q12) 

(a) It is waterproof, breaks easily and is flexible.

(b) Both do not break easily.

(c) S. As it does not absorb water but T does absorb water.

Windscreen should not absorb water to prevent rain from entering

the car.

(a) Cardboard-+ X

Clear Glass -+ Z

Frosted glass -+ Y

(b) Z because it allows most light to pass through it so· you can see the

fish clearly.

(a) It is at the adult stage

(b) It is the young stage

I Adult plant I I young plant I 
(c) 

(a) It is stage S

(b) The breathing tubes will be blocked by the oil and the young will die

as they cannot breathe.

(c) No, as they can easily fly away and escape.

(d) The life cycle of the grasshopper has three stages life cycle but

mosquito has four stages.
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